Differentiation ( ... Practice Set 2)

Derivatives - Sum, Power, Product, Quotient, Chain Rules

Differentiate each function with respect to x. Problems may contain constants a, b, and c.

1) fx)=3x° 2) flx)=x
3) f)=x3 4) flx)=-2x*
) £ = 6 1()=—2x"
7) flx)=-5x" 2
) flx)=-5x & fl)o s
9) flx)=—4x" 10) f(x)=—x™
1) y=—x-3 12) y=5x"+1
13) y=—5x"—2x +4x"' 14) y=2x"—5x" 4+ 5x7

15) y=-2x " —4x 4 3x" 4

a1
16) y=-2x" ——+3x
X

- _ 4 _ 9.2 —4 -5
1?) }::4x |+3x2’+_4 18) V= 2x" +4x  + 5x

X

2 1 i
19) y=—4x*— = - 20) y=3x" ——+4x"
X



Differentiation ( ... Practice Set 2)

Answers

Differentiate each function with respect to x. Problems may contain constants a, b, and c.

1) flx)=3x° 2) flx)=x
f(x)=15x* Flx) =1
3) f(x)=x*3 4) f(x)=-2x"
f'{:x) =3x? \E f'(x:) =—8x°
. 1
5) f(x):—?fz 6) flx)=—=x°
' X 3 5x*
x)=-= o) = ———
A 5 J\x) 5
2
7) flx)=-5x" 3 251>
15 8) fl)=5x" f'(x)==
/') =
9) flx)=—4x" 10) £(x) = —x*
F(x) = —apx""! F'(x) = —2ax""
1) y=—x-3 12) y=5x"+1
dy Iy
o L~ 10x
dx dx
13) y=-5x*—2x +4x”" 14) yp=2x" -5y 4557
dy . 4 Iy 5 15
o0 -2- A e
x x° dx 2 5
_ A2 44 -5 1
15) y=-2x 4x "+ 3x 16) y:—2xl——3+3x_4
dp_4 16 15 *
& ¥ S dy _ 2q +i_ 12_
dx x~ x4 ;(‘:'
B B 4 _ 2 —4 -5
17}y:4xl+3x2+—4 18) y=-2x"+4x "+ 5x
x dy . 16 25
ﬁ:_i_i_ﬁ dx ! = 6
dx xl .3(3 .7(5
2 5 1
19) y=—dx* -5 = 20) y=3x" ——+4x"
X X X
dy o, 6 25 dy ., 3 16
- == X+ —4 +7 — 3 s
d_\ X X ({X X X



Differentiation ( ... Practice Set 2)

Product Rule:

21) y=x*(3x° -2) 22) y=x*(2x*-5)

23) y=2x"(—x" +3) 24) y=(-4x*+ 1) '

25) y=(-5x*-3x*-2)(3x° -2)

26) y=(4x*—5)(x*+x>+2)

27) y=(-x"+2x* + 4)(x* +3)

28) y=(1+3x73)(x* + 1) 29) y:(] +Lﬂ)(5x2 +3)
=

30) y=(-5—x7)x* +2) 31) y= (1 + i_)(z,x“‘ -2)
x)



Differentiation ( ... Practice Set 2)

Answers

Product Rule:
21) y=x'(3x°-2)
dy

dx )
=24x" - 6x°

=x7 - 15x* + (3x° = 2) - 3x2

23) y=2x(-x*+3)

d" 2 ) 2
@ _ 253 23x? 4+ (=x? +3) - 622
dx

=—12x" + 18x?

25) y=(-5x"-3x-2)(3x> -2)

D (5t =300 2) 902 + (32 — 2)(-20x° — 9x?)
»

=-105x% — 54x° + 40%°

26) y=(4x*—5)—x* +x*+2)

& (4x* = 5)(-4x® + 2x) + (—x* + x? +2) - 16x°
e

=-32x" +24x° 4+ 52x° — 10x

27) y=(x*+2x" +4)(x* +3)

dv
dl = (—xs +2x* +4)-3x* + (x3 +3)(=5x* + 8-’(3)
e

=—8x” + 14x® — 15x* + 24x° + 12x2

22) y=x*(2x*-5) =

d’ 2
! =x%.8x° +(2x4— 5

X
=12x° — 10x

24) y=(-4x*+1) - —4x*

d’
YD (Caxt+1)- 1627 — 4x* - ~16x°
dx

=128x" — 16x°

28) y=(1+3x7)" +1) 29) y—(l +i2)(5x2+3)
x
ﬁ:(\l+3x3)-3x2+(.¥3+1)-—9.\'4 dv
I _':(1+x2) 101+(5x2+3) “2x
=3x‘2—i .
/ 4
X = l()x—i1
I

30) y=(-5-x7)5 +2)

d" 3
;L:(—S - X ) S5xt +(x5 +2)-3x
dx
6
=-25x* - 2x+—
¥

6

(1429 1263+ (3x* —2) - =5x

)-2).'



Differentiation ( ... Practice Set 2)

Quotient Rule:

4 3
X J
32) y= 33) y=
) 4x% + 4 ) 5x2 -4
5xf + 1 3x° - 3x°
34) v= 35y p=——— ——
) 4x° +3 ) 3P +5
36) r_:!c4+4)c2—4
- 2x°—4
37) 4x° +5x7 = 2x2
y=———————
’ 4x* 4+ 3
3x° —5xt — x?
38) y= "
) 4x° — 4
39 2x° +2x° — 552
y=———————
’ 4x* — 4
5x° —x* -4
40) y=""—"



Differentiation ( ... Practice Set 2)

Answers

Quotient Rule:

x* dy (4x2+4)-4x> —x* . 8x

x’ dy (5x% —4)-3x* —x - 10x

32) y= == 33) y= ==
)y 42 +4 dx (43_-24_4]2 )y Sxt—4 dx (5x2—4)2
B x4 2x° _ 5xt — 1247
2x  +4x* +2 25x* —40x* + 16
sxt 41 33 — 352
34) y= 35) y=—"————
)y 4x° +3 )y 3’ +5
dy  (4x° +3)-20x° — (5x* + 1) - 205" dy  (3x° +5)(9x" — 6x) - (32 —3x7) - 942
dx (4x° +3)? dx (3x* + 5)°
_ —20x* - 20x* + 60x° _ 9x* +45x% - 30x
16x" +24x° +9 9x% +30x" + 25
4 2
x'+4x° -4
36) p=—F——
)y 2x° -4
dy (27 —4)(4x’ + 8x) - (x* + 4x* - 4) - 67
dx (2x* —4)
Cx® -4t - 8x? +12x7 — 16x
2x° —8x7 + 8
457 4+ 530 =25
37) y=————
)y 4x* 43
dy  (4x* +3)(20x* + 1537 — 4x) — (4x° + 5x° - 2x7) - 162°
dx (4x* +3)*
16x® — 20x° + 16x° + 60x* + 45x% — 12x
16x% +24x* + 9
3x° —5xt — 2
38) y="r———
)y 4x° -4
dy  (4x° = 4)(15x* — 2007 — 2x) = (3x° = 5x* — x?) - 20x*
dx (4x° —4)*
C5x® 4 3x® — 155 #2007 + 2x
4x"0 - 8x° + 4
25 +2x° — 5x%
39) p=—"——— =
)y 4x* — 4
dy  (4x* = 4)(10x* + 6x% — 10x) - (2x° + 2x° = 5x7) - 162
dx _ (4x* — 4y
= x4+ 5% —5x* —3x + 5x
ax* —axt 42
52° —x° -4
40) p=———
)y 2x* -5
dy  (2x7 = 5)(25x* = 3x%) — (5x° = x* —4) - 4x
dx (2x% - 5)°

30x° — 127x* + 15x2 + 16x
4x* —20x% + 25




Chain Rule:

41) y=(x*-5)*

43) y=(2x-1)’

45) y=(-4x*-5)

47) y=(3x*+5)+35)"

49) y=((5x*+3)*+ 1)

Differentiation ( ... Practice Set 2)

42) y=(-3x*-5)°

44) y=(-3x"-1)°

46) y=(-x+4)°

48) y=((-x* +2)°-5)

50) y=((5x>=3)°+2)"



Differentiation ( ... Practice Set 2)

Answers

Chain Rule:

41) y=(x*-5)*
dy _

dx

= 16x3(x* - 5)°

4(x* - 5) - ax’

43) y=(x-1)’

dV 2
—=32x-1)"-2
dx (2x )

=6(2x—1)°

45) y=(-4x*-5)*
D _g(cax?—5) g
dx

47) y=(Gx*+35)+5)*

% = 4((3x* +3)7+5) - 232" + 5) - 1247
N

= 96:3((3x* + 5)*+ 5)°(Bx* + 5)

49) y=((5x*+3)" +1)°

? — (55 +3)* + 1) - 4(5x* + 3)° - 205
.

= 1605 +3)*(5x* +3)* + 1)

42) y=(-3x*-5)°
% =2(-3x% - 5) - —9x?

=—18x2(-3x* - 5)

44) y=(3x"-1)° jy—S(—3x5—1)4 ~15x*
X
=_75x%(=3x° - 1)*
46) y=(-x+4)°
%:2(—x+4)-—1
=-2(-x +4)

48) y=((-x*+2)°-3)’
% =2(~x°+2)°=5) - 5(-x* +2)

= 500 (—x® +2)(<x% +2)° = 5)

4 4
- —5x

50) y=((5x?-3)°+2)"
Y _ 4((5x* —3)7+2)" - 5(5x% ~ 3)* - 10x
dx

=200x((5¢* - 3)°+2)" - (5x* - 3)*



